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PAPER-2
Physics

Q.1t0Q. 50

Chemistry : Q.51 to Q. 100

Biology Q. 101 to Q. 150
PHYSICS / Wifaerermen
001. A force F=75N is applied on a block | 001. Tk & F=75N &l 5k ED
of mass S5kg along the fixed smooth Ak T L d qd
incline as shown in figure. Here * SRIRIE \_rlTEITV%I Tgl e
gravitational acceleration g = 10m/s2, T g=10m/s? Bl SAleh I T B
The acceleration of the block is
5K; F
5Kg . F £
30°
30°
(A) 5% downwards the incline (A) 5% T qd o e Akl AN
(B) 5% upwards the incline (B) 5% Td G b 3131&'-‘2 SR H AR
© 10% downwards the incline ©) 10% T qd 3431&?“ dre 3
(D) 10% upwards the incline (D) 10% @ qd b W FW hI AR
002. A 3kg object has initial velocity | 002. U% 3kg Wl aE H WRfNEH
(61 — 2j)m/s. The total work done on (61 = 27)m/s 8l A swq 1 A7
the object if its velocity changes to (8 + 4)m/s B AT & dq qoh o
(81 + 4f)mls is W fpm mn F@@ w@ B
(A) 60J (B) 120J (A) 60J (B) 120J
(C) 216] (D) 44) (©) 216] (D) 44J)
2-BD | [2] [ Contd...
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A heat engine absorbs 360J of energy
by heat and performs 25J of work in
each cycle. The energy expelled to the
cold reservoir in each cycle is

(A) 360J (B) 385J

(C) 335J (D) 14.4)

Three nonconducting large parallel plates
have surface charge densities 6,—2c¢ and
4o respectively as shown in figure. The
electric field at the point P is

c -26 4o
. P
3o 3o
(A) 2 (B) €
o c
©) € (D) 2¢&

A battery of constant voltage is

available. How to adjust a system of

three identical capacitors to get high

electrostatic energy with the given

battery

(A) Two parallel and one in series

(B) Three in series

(C) Three in parallel

(D) Whatever may be combination, it
will always have same electrostatic
energy

Five resistances are connected as shown

Th SSAT 39 Tcdsh Tsh H 360J AT
ED| aaashw AT 8 qAT 25 &
Tk =sh H Ll @l Uk w=sh H
IS B H A TS Ha grnt

(A) 360J (B) 385J

(C) 335] (D) 14.4]

FEER. A orETds aE HHR Wil
t%e 34'@3[ Udcd U 6,20 qdl
|

fog P W foga &= 2
c -20 4o
. P
A) 52 ®)
© % @) 7,

Tsh IR dicedl sl Sl Iuesy B

T THEHE el % Few ¥ 3=

feor fog@ Ftaret feafa ym &@ +

(A) T TR 9 H d TH vt sy
&GS

(B) i ooft sm A

(C) fiFi TR %u o

(D) fret off g &1 "aeH & for
foga owl when guw A

WuﬁﬁaﬁawgéélﬁgA

in the figure. The equivalent resistance qaoqr 1%@ C HET o SIGE D)
between points A and C is
6Q2
6Q
40 4Q c
C
4 ! 12Q
80 120 80
(A) 21.2Q (B) 30Q (A) 21.2Q (B) 30Q
(C) 440 (D) 2370Q (C) 440 (D) 23—09
[3] [ PTO
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007. The frequencies of X rays, Gamma rays | 007. X fepton, T feRton qaqr @RI ThRI
and visible light waves rays are a, b il il;[ T Fr sTgfcEl R a, b
) A ¢ 7 @
and ¢ respectively, then (A) a>b>c
(A) a>b>c (B) a>b, b<c (B) a>b, b<c
(C) a<b, b>c (D) a<b, b<c (©) a<b, b>c
(D) a<b, b<c

008. An equiconvex (biconvex) lens has | gos. Th 99 3I9d o9 (Sﬂ'&ﬁ?l?[) I IRy
focus length f. It is cut into three parts g! %I Eﬂﬁ %ﬁ%ﬂiﬁl( Tj@:{ an g
as shown in the figure. What is the feparr St HESRL

[ 6 BT T R ?
focal length of Cut part I ? g
7\
1/
1/ m
1
I m
\/
N/
f
(A) § (B) 2f (A) 5 B) 2f
(C) 3f (D) g © 31 (D) %

009. A cell has terminal voltage 2V in open | 009. @oi UNUy H Th Tad HI & H
circuit and internal resistance of the dieedt 2V B da fgu MU odA
given cell is 2Q. If 4A of current is Aafes gfaug 2Q 8 | AfE 4A H
flowing between points P and Q in the g ﬁ@?ﬁ P dgT Q % WY Uhuy H
circuit and then the potential difference 98 W @ fog3ll P dM Q % W
between P and Q is e 2

2V, 2Q) 2V, 2Q
|y |
e Sl .
(A) 30V (B) 26V (A) 30V (B) 26V
(C) 22v (D) 24V (C) 22V (D) 24V

010. A Proton and an alpha particle both are | 010, UH WA T Tk ITHI HU I hl
accelerated through the same potential g fawarw g @f@ fear Sran
difference. The ratio of corresponding 2l IThl WG € Sl qUeHAT <k
de-Broglie wavelengths is S CRIG] 2
(A) 2 B) V2 (A) 2 (B) 2

1 1
C) 2/2 D C) 2v2 D) =
©22 o (© ® 575
2-BD | [4] [ Contd...
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011. Two balls of mass m and 4m are | 011. a ﬁé ISEED GIHTM m dAT 4m K
connected by a rod of length L. The SThl L oS h! D g SISl STl
mass of the rod is small and can be 2 DS H CIHH I B qAT Tal
treated as zero. The size of the balls can H1 IRR T 2| g9 Ig 1 9ed
also can be neglected. We also assume 2 5 B2 &1 *g Hafrd frar s
the centre of the rod is hinged, but the 2 T B el aa § foan wwor
rod can rotate about its centre in the ¥ TEF S F AN Eﬂﬁﬁ B T
vertical plane without friction. What 1is 3 9§ BT W @ W@ ¥ @
the gravity induced angular acceleration &
of tﬁe rog when the aigle between the PO T A SE w Jeed

N SIHd B T RIVE @O FT G
rod and the vertical line is 6 as shown.
6g . g . B B B Zsing
(A) 5751n9 (B) ism@ 5L 3L
g . g
©) %sin@ (D) %cos@ © 6—Lsm9 D) 6—LCOSG

012. A projectile is projected with an initial | 12, uws YT H YEEE AT (47 + 57)
velocity (4i + 5j)m/s. Here j is the mis % oo g e wmar B =t
unit vector directed vertically upwards j 3 Oty FedleR W HI I B
and unit vector i is in the horizontal aa ;[ sers gfew afos fesm # 2)
direction .Velocity of the projectile (in g9 H ST 9 TFR § IS Q@f
m/s) just before it hits the ground is 3R] AT (ft. /ﬁ) Kl
(A) 4i+5 (B) —4i+5) (A) 4i+ 5] (B) —4i+ 5]

(C) 4i—5 (D) —4i—5 (C) 4i—5 (D) —4i—5]

013. What is the approximate percentage | (13. Th O A o TEdHRlAd % HIYT
error in the measurement of time period oo e g&: fradt B af
of a simple pendulum if maximum .
errors in the measurement of length / LA Tecel 0T g A A
and gravitational acceleration g are 3% sHferham ﬂﬁ' FI: 3% T 7% 7
and 7% respectively ?

A) 2 % B) 3 % (A) 2 % B) 3 %
©) 5 % (D) 10 % © 5% (D) 10 %
2-BD | [5] [ PTO
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014. A gas undergoes the cyclic process | 014. TH T® Us <hE UshH H |(\-q;||:i{.||{
shown in figure .The cycle is repeated FITHTT LAl | 3@ =k K uld
100 times per minute. The power e 100 @m 3|[|ac|%| EIEE I
_ K L U
generated is
p P
) R A
30 F 0T
20 20 r
10 F ¢ < B i ) B
[ [ [ V
L L V
0 3
0 b 4 6 8 (m’) 2 4 6 8 (m”)
(A) 60W (B) 120W (A) 60W (B) 120W
(©) 240W - (C) 240W (D) 100W
015. Three charges lie on the frictionless | 015. T Ew Tk avRiEd &fad ®aE W
horizontal surface at the vertices of Teh HHdTg HH\_" % W W |%|5||§1:||(
equilateral triangle as shown in figure. g T ¥ F AEW X dAT Y Fgad
Two charges X and Y are fixed whereas (fixed) g qon de STes Z Yeh fepa
third charge Z is released. Which path S R Al HE HH S IWA AEW Z
will charge Z take upon release ? GRI IFET 99 (path) STGARET ST B
Path-1II & /_, Path-IV Path-IIT & /—. Path-IV
\Pathl \Pathl
Path-II Path-II
X Y X Y
(A) Path — I  (B) Path — II (A) 9 -1 (B) ¥ - 1I
(C) Path — Il (D) Path — IV (©) 91 -1 (D) 9 - IV
016. There are two waves having wavelengths | 016. 2 @ fSmeshl d@resd  100ecm  do
100cm and 10lcm and same velocity 10lcm 2 41 ¥AF 97 303m/s 2l
303m/s. The beat frequency is foege 311?{% FiKlll
(A) 3Hz (B) 2Hz (A) 3Hz (B) 2Hz
(C) 4Hz (D) 1Hz (C) 4Hz (D) 1Hz
2-BD | [6] [ Contd...
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017. Two polaroids A and B are placed with | 017. T HelIss (gash) A a1 B Tk @g;
their polaroid axes 30° to each other as | |%|5|I§PIII 39 TN W S ®
shown in the figure. A plane polarized 3T dieRIsS A o HET I 30°
light passes through the polaroid A and 2 UleWIZE A 9 !!Glﬁ & U gHdA
after passing through it, intensity of ‘gﬂ%m Yehre1 <kl dlerdn I, 7l .Gl'l?ﬁ ]
light becomes I,.What is the intensity leliss B @ 3!3@ & g SAfaH w9
of finally transmitted light after passing g UThd Yty shi dfisrar T gnft?
through the polaroid B ?

A B
A B
(A) 0.251, (B) 0.5, (A) 0.251, (B) 0.5/,
(C) 0.751, (D) 0.8661, (C) 0.751, (D) 0.8661,
018. Laser light has following property 018. TSR Yebrl = T @A @
(A) laser light is white light (A) SR Yl A4 BlAl B
(B) laser light is highly coherent (B) O T TARF FAEEE B 3
©) isgei:(r)nlight always lies in X-rays ©) - > e R &
(D) laser light does not have directionality LR . )
property (D) ot yehrm H fowrmewsh o @
Al #

019. A particle is moving in translatory
motion. If momentum of the particle 019. TH S0 ¥ " fd w W R
decreases by 10%, kinetic energy will afG kU FT T 10% el 7 Al
decrease by ! TS oAl "

(A) 20% (B) 19% (A) 20% (B) 19%
(©) 10% (D) 5% (C) 10% (D) 5%

020. Which of the statement is incorrect | 020. GTIRUI(T) FEART o TR H i@l

about the simple microscope? FYT T B ?
(A) Magnification of microscope is (A) ﬁ&ﬂ'c(-‘?ﬁ F aEds e (¥7%)
inversely proportional to the least
distance of distinct vision. Eérﬁz K S o JhHAT
(B) A convex lens of microscope with gt @
shorter focal length yields higher (B) Hewcaff o A Hihd gt + I
magnification. TE § e @Y W Bl @
(C) Biology students use to see the (C) e wH % faEef wige @
slides. NG . )
(D) It is not used for magnification HOEW A AR
of an object at far away from the (D) EEEE < fera a%d L ICLE
observer. % U @8 swm # 4@ s @
2-BD | [7] [ PTO



021. Surface tension of the liquid is S. | 021. T% gd &1 Y8 4@ S 3l Tt feu
Work done in increasing the radius of T A W TH AEA ok gAgA  hl
soap bubble from R to 3R at given B R @ 3R w0 ° R T @
temperature will be B
(A) 8nSR2 (B) 167nSR2 (A) 8mSR? (B) 16mSR?

(C) 64nSR> (D) 18’3—5’32 (C) 64nSR> (D) 18’2,*5”

022. Suppose you drive to Delhi (200 km | 022. g ®ifdu f& 9l 200 km 8 fegt
away) at 400 km/hr and return at 200 W 400 km/hr ¥ SET @ 9T 200
km/hr. What is yours average speed for km/hr @ WAl @1 MUk 39 SR hl
the entire trip? fEd = F&AT B Y
(A) Zero (A) A
(B) 300 Km/hr (B) 300 Km/hr
(C) Less than 300 Km/hr (C) 300 Km/hr & A
(D) More than 300 Km/hr (D) 300 Km/hr & 37ferh

023. A system undergoes a reversible adiabatic | (23, Th ECID Teh IGhAUNT BGISH TshH |
process. The entropy of the system TSRAT 2 | e f @cﬁ (entropy)
(A) increases (A) et
(B) decreases (B) et
(C) remains constant (C) =R T& 2
(D) may increase or may decrease (D) & AT TS Tehdl 2

024. For the combination of gates shown | 24, <9 feu 7u aF g * TIASH *
here, which of the following truth table e 9 o gt &1 SiHET
part is not true g & @

A A
C C
B —— B
(A) A=1, B=1, C=1 (A) 4=1, B=1, C=1
(B) 4=1, B=0, C=1 (B) 4=1, B=0, C=1
(C) 4=0, B=1, C=1 8 jzg’ gz(l)’ g:(l)
(D) 4=0, B=0, C=0 ’ ’

025. A narrow white light beam fails to | 025. U &d Jehral Tehivl foptur wep Stfimrdt
converge at a point after going through a N W % g TH A 1%‘3 xR
converging lens. This defect is known as A &M # sERa Ed § AR
(A) polarization ?:[) Z;]T E
(B) spherical aberration (B) Teha farmem
(C) chromatic aberration (C) auffa fergeH
(D) diffraction (D) foad=

2-BD | [8] [ Contd...
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026. A small bead of mass M slides on a | 026. Ush M TGoIHME ©hl BlET  HAHT
smooth wire that is bent in a circle of oot 9 W fEear 2
radius R. It is released at the top of R
the circular part of the wire (point A am
in the figure) with a negligibly small §%|3[
velocity. Find the height H where the (
bead will reverse direction. ]%h_iﬂ
Sl
3R SR
(A) B) > "
©) R (D) 2R ©) R
027. Two persons A and B start from the same -
location and walked around a square in 027. :fﬁ - A a9 B QEF,‘@ ST H U
opposite directions with constant speeds. )
The square has side 60m. Speeds of A % T T '_’Z{g ET%E'TT S ST 60m
and B are 4m/s and 2m/s respectively. ;A H?ﬂéB SPHRT: _ 4m/s ?ﬁ?ﬂ
When will they meet first time? 2m/s &I Teell SR & foc |
(A) 10 sec (B) 20 sec (A) 10 sec (B) 20 sec
(C) 30 sec (D) 40 sec (C) 30 sec (D) 40 sec
028. A tire of radius R rolls on a flat surface | 28, wsH R Fr=am &1 ufgam w@aar dag W
with angular velocity ® and velocity v HONT T o 9T 9T v o %‘3'-'33:'—'—{
as shown in the diagram. If v> oR, in o
shown 1. qsH W 7l IC v>oR @ TR GA
which direction does friction from the SN S e § om?
tire act on the road ? S :
v P
(A) Towards the left (A) sff T (B) TRl T
(B) Towards the right (C) = T (D) IR I T®
(C) Towards downwards
(D) Towards upwards
029. Consider one dimensional motion of | 029. T% m GHHM & %0kl uH farfm
a particle of mass m. It has potential Td W feem i | S?Tﬁ feufast
energy U = a + bx? where a and St U=a_+b)g2%3|31a?[9ﬂb
b are positive constants. At origin DI CR ED qd %l% x =0
(x = 0) it has initial velocity v,. It W 3R IR am Vo 2 | I ud
performs simple harmonic oscillations. 341;{[%, Ty w2 frmeh 3“3!—% iEi=
The frequency of the simple harmonic w R s R
motion depends on
(A) b alone (g) Faa Z :;T
(B) b and a alone (B) e a W
(C) b and m alone (C) ad b AU m W
(D) b, a and m alone (D) e b, a AN m W
2-BD | [9] [ PTO
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030. The postulate on which the photoelectric | 030. I ]%lgﬂ ot = § @ | 31&"1@?[
equation is derived is (Feql) W A= H T B 98 @
(A) electrons are restricted }Eo orbits of (A) 3@?‘@? ¥ 3E FEE § ® T
angular momentum nHo where n % 58 ol g9 nl —&ﬁ qeI
is an integer. W T
(B) electrons are associated with wave n Th .%l . .
_h . (B) S®IN H Tag W W qureed
of wavelength A =-— where p is h . .
momentum. p K:; 3 Wl p "M B |
(C) light is emitted only when electrons (C) TR a3 _@?ﬂ % EEI 3é5§|:|
jump between orbits. Th HH o @ q %ad g |
(D) light is absorbed in quanta of (D) YT 1 EINNU HoAl & T
energy E = hv E=hvo & ®1 ¥ gl 2l
031. A layer of oil with density 724 keg/m3 | 031. T d@ I wd fEa1 o 724 kg/m’
floats on water of density 1000 kg/m?. g F® 1000 kg/m{ T A A 6 PR
A block floats at the oil-water interface ?\T @ 2l T i -9 IAEdE W
with 1/6 of its volume in oil and 5/6 FeRTIEN 38 JhR T @l & fh SWI 1/6
of its volume in water, as shown in the SUREAN 9 H qA 5/6 A™A 9@ H B
figure. What is the density of the block? ql A Hl HAed HT BT
Oil
oWl
(A) 776 1<g/m33 (B) 954 1<g/m33 (A) 776 kg/m®  (B) 954 kg/m?
(€) 1024 kg/m® (D) 1276 kg/m (C) 1024 kg/m® (D) 1276 kg/m>
032. A string fixed at both ends has a standing | (35, % wE ol R ¥ Wead & 9O T
wave modg for which ‘Fhe distances Sy g g b s Sl
between adjacent nodes is 18cm. For
the next consecutive standing wave bl & ISFm 2l I ST ST !
mode distances between adjacent nodes au faun 4 wAvd Fewl % #e gl
is 16cm. The minimum possible length l6cm Bl TEHt i ~dH g gt
of the string is
(A) 288 cm (B) 72 cm (A) 288 cm (B) 72 cm
(C) 144 cm (D) 204 cm (C) 144 cm (D) 204 cm
033. A wire loop that encloses an area of | 033. T$ dR I M St fF 20ecm2? W
20cm? has a resistance of 10Q. The FTHA Ieg Ll 3 e ESEDN] ILLE]
loop is placed in a magnetic field of 10Q 31 3| S\ H 24T &
24T with its plane perpendicular to the ¥ W W YR W T 7 Th 3@
field .The loop is suddenly removed dot e s d IEC]
from the field. How much charge flows SN W &9 § U THTH gl
past a given point in the wire? gm R (FE)%F F‘%’Rﬁ 1%'_5';
4 3 lehddl HIARI 5|°|||6(‘| aldl ?
(A) 48x1074C (B) 2.4x1073C (A) 4.8x1074C (B) 2.4x1073C
(C) 1.2x1074C (D) 107!C (C) 1.2x1074C (D) 10-!C
2-BD | [10] [ Contd...
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034. A right isosceles triangle of side a has | 034. Th GHHI Ith W’@ﬂ'@ ERSIREEED]
charges ¢,+3¢g and —g¢ arranged on %ﬁl’lﬂ'&'l’( Yl a qUT T W AEY
its vertices as shown in the figure . q,t3q dAIqT —q Sﬂﬁ% gt W %ﬂ'@'@l’l’(
What is the electric potential at point afedd 8| MEW +g AT —g HI e
P midway between the line connecting et W@ w mer 1%@ g ]%@
the +¢ and —¢g charges ? P I ﬁ'g?-l fawa feramm @TIT?

+q O +q O
q 3q q 39
(A) Eoa ansoa (A) e a ®) 2fﬂ:so
3 3
© TCS?CI (D) f 2 me,a © % D) f 2 me,a

035. Shown below is a graph of current | 035. EICRTCIIE| 1 I S L
versus applied voltage for a diode. (current) ¥ SNIfYG dleedl (voltage)
Approximately what is the resistance % HEH SR T B| HAWMUG dieedl
of the diode for an applied voltage of -1.5V % fau eriie w1 giaty o
~1.5V? fepa g ?

Current(A) Current(A)

3 3

2 2

1 % 1 -/
| 32-10 1 2 3 Voltage(V) | 32-1 0 1 2 3 Voltage(V)
(A) Zero (B) 1Q (A) = (B) 1Q

(C) 20 (D) o ©) 2Q (D)

036. A sound wave is generated by the howl | 036, Uk Wfead i o9 & gw UHF A
of a wolf in the night. How would we Th e U Iq= Skl St B (JET
describe the motion of a particular air 9 aﬂaﬁ o er%”%m yur hl 3uE
molecule near the ground, a mile away T ‘g'q) afey 9 s Ha T e
from the wolf, on average (i.e. ignoring W fod Wk g1 & U1 <kl TG 3fEd
the random wandering of gas molecules)? w9 9 frg gHR weiia it ?

(A) It moves up and down in an (A) 98 SR 9 TH Tl ®W [
oscillating fashion fqd sum |
(B) It moves away from the wolf at (B) I8 afey @ L= $H T a4 hil
the speed of sound I O Td S|
(C) It moves back and forth (oscillating) (C) I8 ufsy &l T M B ()
towards the wolf ufg sam |
(D) It moves in the horizontal circle. (D) I8 TH axfast 9 T g a8l
2-BD | [11] [ PTO
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037.

Which of the following Material has | 037, fo o & ga@ 9 ufaQgshar amen
lowest resistivity ? CHE
(A) Constantan (B) Silver (A) P (B) EIG]
(C) Manganin (D) Copper (C) T (D) drea
038. ﬁn incom%reissib}lle noE ViSCOIJ.S ﬂui(} 038. UH IFEdIST S9IF gd Th SRR
ows steadily through a cylindrica
pipe which has radius 2R at point A % ﬁaﬁﬁ %2;‘ g\—: 33% %%l As"v'lj;
and radius R at point B farther along za @ AV 3 1%@ A T UEY H
the flow direction. If the velocity of fr=m 2R 3 @ z3 WaEE @ fewm &
the fluid at point A is V, its velocity o %@ B w ¥y & fear R 3
at the point B will be ? ¢ 3 2
(A) 2V (B) V B W gd &l AT BAT T
(C) V2 (D) 4V (A) 2V (B) V
(C) V2 (D) 4V
039. In a room where the temperature is .
30°C a body cools from 61£)C to 59°C | 039. Tk FHL H AW 30°C B TEH Th
in 4 minutes. The time taken by the a9%q W 61°C ¥ 59°C @ 3Ivel BM
body to cool from 51°C to 49°C will 4 o g 4 foMe 7 | a9%g Wl
be about 51°C & 49°C d% 3el BH H @
(A) 4 minutes (B) 6 minutes I TN B
(C) 5 minutes (D) 8 minutes (A) 4 fime (B) 6 fire
(C) 5 T (D) 8 fie
040. A student’s 9.0 V, 7.5W portable radio
was left on from 9:00 P.M. until 3:00 | 040. U% B & 9.0 V WI 7.5W & Teh
AM. How much charge passed through A 9:00 PM & 3:00 AM. T 4TS
the wires? @Al & d dr g fohan e varfzd
(A) 6000C (B) 12000C BIAT?
(C) 18000C (D) 24000C (A) 6000C (B) 12000C
(C) 18000C (D) 24000C
041. A conducting wheel rim in which there
are three conducting rods of each of | 041.
length / is rotating with constant angular
velocity ® in a uniform magnetic field
B as shown in figure. The induced
potential difference between its centre
and rim will be
® ® ®
® ®
% ®
® ® ® ® ® ®
2 Bol’
(A) 0 ®) B¢ (A) 0 ® 5
© Bor ©) 3 or ©) Bol (D) 3 Bor’
2-BD | [12] [ Contd...
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042. An imaginary, closed spherical surface | 042, Uh HcUHE MATHRR ¥ Gdg S hl
S of radius R is centered on the origin. Brsar R 2 S &g I ]%@ W B
A positive charge +q is originally at g T EATCHS AEY +g A ]%@ ery
the origin and electric flux through the @ I AT JA HAB T uiE faga
surface is ®p. Three additional charges AR D AT I = orfafs emaw
are now added along the x axis: —3¢ x 3 & oHfey = oz @ W I
at x=—§, + 5¢ at ngand 4q at 8 —3q e x=—§tr{, 3¢ 3T
x=37R. The flux through S is now x=R W e 4g IET W B I
(A) 3Dy (B) 4y gag S ¥ UNd weted g
(C) 6Dy (D) 70y (A) 3Dg (B) 4dg
043. An 1800 W toaster, a 1.3KW electric (©) 60y (D) 70g
fan and a 100W lamp are plugged in | 043. T 1800 W =kl TR, Th 1.3KW
the same 120V circuit i.e. all the three % fog@ @1 9 Th 100W H1 wed
devices are in parallel. What is the ® 120V % TH F GREd H oI
approximate value of the total current ST R 319ﬁa 4 wfi gﬁ?ﬁ
(i.e. sum of the current drawn by the TR P }TFTEIQI ﬁ efEd
three devices) through circuit ? SR (STQﬁ'd il gﬁh‘eﬁ g o g
(A) 18A (B) 27A IS HT AM) HT HE T FAT?
(C) 40A (D) 120A (A) 18A (B) 27A
(C) 40A (D) 120A
044. Four very long current carrying wires
in the same plane intersect to form a | 044. IR T GNEE TR TH & dd H
square 40.0cm on each side as shown & ad QEF»(\HTF il ;'?E 351 40cm
in the figure. What is the magnitude s ge femrgEn gfeese A
of current I so that the magnetic field T F Hg W ﬂmﬁﬁq & A [l
at the centre of the square is zero? % fow aw 1w wfemr feer gm
=fEu ?
104 : i 104 : 7
A Y 84 A Y a4
> H 4 >4
(A) 2A (B) 18A (A) 2A (B) 18A
(C) 22A (D) 38A (C) 22A (D) 38A
045. If the current in the toroidal solenoid | 045. UH TNIgSgAT Uil H oWl Th
increases uniformly from zero to 6.0A NALEEESE! d YA F 6.0A TF 3.0us
in 3.0us. Self inductance of the toroidal H wedl Bl TRISSIHT UNATITsh i
solenoid is 40uH. The magnitude of self TR 40uH 2l @ gf@ %rﬂﬁ drgeh
induced emf is aq F A @
(A) 24V (B) 48V (A) 24V (B) 48V
(C) 80V (D) 160V (€) 80V (D) 160V
2-BD | [13] [ PTO
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046. An electron is at ground state of the | 046, Uk H TR % A &R T T 3o
H atom. Minimum energy required to 2 H AT # fedlm Al sraeen
excite the H atom into second excited I ofa &0 & fou =aH Tt
state is ol H TavERa & 7
(/é) }géel’f (g) ?-24TVV (A) 102¢V  (B) 3.4eV
©) 13.6e (D) 12.1e (C) 13.6eV (D) 12.1eV

047. A particle enters uniform constant
magnetic field region with its initial | 037" i af’% %‘r}' a}“‘"‘"“ 8‘}3& i
velocity parallel to the field direction. a_r[g l ﬁ“ l - 3 3 Ea'l'[{! ¥ o
Which of the following statements - Pl =l & ?l a5
about its velocity is correct? (neglect [ e §ed Sk (&
the effects of other fields) % Wl A l' )

(A) There is change only in magnitude (A) el qRAmT H aREdd g

(B) There is change only in direction (B) whaa feen # uf@ad g

(C) There is change in both magnitude (C) ufmmr g fesm g ®  uftEds
and direction

(D) There is no change (D) g Uiadd =&l '

048. Magnfetic ‘susceptibility of diamagn§tic 048. gﬁw e w-q E@ﬁ £

materials is of the order of (SI units) Fif> i
s ’s (SI ghrg #) =t
(A) +10 (B) 10 (A) +10-5 (B) —10-5
(C) +10° (D) +10~% to +102 5 4 5
(C) +10 (D) +10=* to +10
o il o by ey of s | g, G 1 s
; ' ? YT 3IWhH TGS HAT H WA K B
E/K is
(C) 2/1 (D) 1/4 (A) (B)
(©) 2/1 (D) 1/4

050. Figure shows the total acceleration . .
a=132m/s? of a moving particle moving 050. o & fsam R=lm % kN o T
clockwise in a circle of radius R=Im. u&ﬁ gC U1 =l T il a=32m/s?
What are the centripetal acceleration and g dl U H AMhGEA aw d 0
speed v of the particle at given instant? # =@ v Gy U oew W gefe

’——‘\. ,/—_‘:.
/// A I/ ,~".:o \\V
1 Ao \\ ! ..-":60 1
| < | | ¢ a !
\ C a / \ C 1
\\ / ‘\ R
/
\\ _ \\~ —’/
(A) 16m/s2, 16m/s (A) 16m/s2, 16m/s
(B) 16m/s2, 4m/s (B) 16m/s2, 4m/s
(C) 16y/3m/s2, 4¢3 m/s (C) 1643 m/s2, 4¢3 m/s
(D) 16y/3 m/s?, 4m/s (D) 1643 m/s2, 4m/s
2-BD | [14] [ Contd...
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CHEMISTRY / TE™ATRME

051. Whoat will happen if a cell is placed into | (51, <1 BT & Ife Teh HITIHT 1 0.4% (GeHM
0.4% (mass/volume) NaCl solution /3T ) NaCl foers # war Sirn 2 ?
(A) Cell will swell (A) ISR 2t
(B) Cell will shrink (B) IR e
(C) there will be no change in cell volume i
(D) Cell will dissolve 8 ﬁﬁma'iﬁ'q‘ & SPI ﬁfﬁq T E

052. What is pH of 2X10 ' molar HCI -5 &
solution?  Here 1log2=0.301 and 052. 2 x10 HCI & pH
log3 = 0.477 ?Qn ) qrft? @ log2=0301 UH
(A) 5.4 (B) 7.7 0g3 = 0.477
(C) 6.92 (D) 95 (A) 54 B) 7.7

053. If at cubic cell, atom A present all corners (C) 692 (D) 9.5
and atom B at the centre of each face. | 053, =fe ush ofiT RIfSTeR o Teft hHT T AT
What will be the molecular formula of Iufeg T Helsh & hgh W B
the compounds, if all the atoms present A1) 39N B IfE Uk et W sufe
0;1 ong Qbody diagonal are replaced by ot W?’ﬁ eot WA C F 2 it
a:mABb B) AB.C R e ST 1 e ST I = B
) 3 (B) 4351 A) ABC B) A;B,,.C
(©) AB,C (D) AB,C (A) ABC; — (B) A3B,Cy

3712 1273 (C) A.B,,C (D) AB,,C
: 3712 12%3

054. If a compound is formed by X, Y and Z
atoms and Z is present on the corners, | 054. Ifg T AR XY 3R 7 9 TRt s
Y is present 1 tetrahedral voids and X I T _3qred &, Y WA
atom in 1 octahedral voids, which of the L aqeeaehia fedeptatl § 3R X 1
following will be the molecular formula ITLHAh f{ﬁ\?lWE&ﬁ T 3ufedra ﬁ a
of the compound. 1 AT T =1 o 9 s g ?

(A) XYZ B) X,ZY (A) XYZ (B) X,ZY
(€) X,Y4Z (D) XYZ, ©) X,Y,Z (D) XYZ,

055. If an elqment A is placed in | ¢ss. Ife acd A e 2t ° 9 Bﬁ.
electrochemicals series above element B FT 2 Al dca C ¥ = 3ufeed 8, dcal
bu‘F be}ow element C, then the order of S TR THdT T SHH FAT BT ?
oxidation power of elements (A) A>B>C (B) C>B>A
(A) A>B>C (B) C>B>A (C) C>A>B (D) B>A>C
(C) C>A>B (D) B>A>C “ « .

. , 056. = HIETEARAT & TATRIca I =HedT g3l

056. What will be the decreasing order of %0 B
stability of following carbocations ? &n N

EHZ + ! CH,
CH, :
N(CH,)
+ 3)3 NO2
N(CH,), NO, M @ 3
(€)) Q) 3)
* +
®+ + HC=C
HC=C
@ ) @ 6))
A) 3>5>4>1>2
(A) 3>5>4>1>2 EB; 152>3>5>4
B) 1>2>3>5>4 (C) 5>4>3>2>1
(C) 5>4>3>2>1 D) 1>2>3>4
(D) 1>2>3>4>5 (D) >5
2-BD | [15] [ PTO
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(0]

CH MgBr H,OMH'
057. £ p Q

In above reaction P and Q are

OMgBr
A
@ @6501 @4?

OH OMgBr

(B) ©/CL\CH @{teuj
©(0Mg3r ©(

OMgBr

CH,
D
e @i

OH
P Q
058. The one electron species having
ionization energy of 54.4 eVs
(A) Be'? (B) Be'?
(C) He" (D) H
059. Which of the following set of quantum

numbers represents the highest energy
of an atom ?

(A) n=3,1=0m=4,s= +%
(B) ”Z3,l:l,m=l,s=+%
©) n:3,l:2,m=1,sz+%
(D) n=4,l=0,m:0’sz_%

060. In OF,, oxygen has hybridization of
(A) sp (B) sp?
(C) sp? (D) None of the options
061. Amongst NO,, AsO; , CO; ,

ClO,, SO; and BO; the non-planar
species are

(A) CO; ,SO; and BO;
(B) AsO; , CO; and SO;
(C) NO;, CO; and BO;
(D) SO; , ClO; and BO;

(0]

057. ©)‘\CH3 CHMgBr _ H,OMH'_
MgBr 0

Ied Afufshan & P 91 Q B

(_)1+V[gBr OH

(A) ©/CL\CH3 @d}: CH,

OMgBr

" O e
o O, O

OMgBr CH,
(D) aa
CH CH,
? OH
P Q

058. TH Toiag TIRNS s WA i

544 TAFIA dlee B -
(A) Be'™ (B) Be™
(C) He' (D) H

059. 91 4 4§ S99 wded g Hl
Ergngmaﬁﬁmaﬁﬁaﬁﬁtﬁﬁ
<h{dl

(A) n=3,l=0m=4,s = ;
(B) ”:3J=1,m=l,s=+%
©) n:3,l:2,m:1,sz+%
(D) n=4,1:0,m:o,sz_%

060. OF, § IfaEfisd &1 T 2

(A) sp (B) sp?

(C) sp (D) 314 & i3 fasheq &l
061. NO,, AsO; , CO; , ClO,, SO; 3R

BO, # ¥ 3@Hdd wishisl 2

(A) CO; ,SO; d91 BO;

(B) AsO; , CO; @ SO;

(C) NO,, CO; q91 BO;

(D) SO: , ClO, @21 BO;
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062. The Lewis acidity of BF; is less than | 0¢2. BF, g-gg ITFATIT BCl, g %9 @
BCl,4 even though fluprine .is more 3@% TiE ﬁ@ﬁ EEUIT‘H FAT
electronegative than chlorine. It is due to ¥ s 2 3
(A) stronger 2p(B)-2p (F) o - bonding i | % B
(B) . (A) 99T 2p(B)-2p (F) o - &-4q

stronger 2p(B)—-2p(F) n - bonding
©) ¢ (B) 9&ct 2p(B)-2p(F) & - s=4q
stronger 1p(B)-3p (Cl) o - bonding
(D) stronger 2p(B)-3p(Cl) © - bonding (©) Ip(B)-3p (CI) & - s
(D) 9t 2p(B)-3p(Cl) t - &4
063. The IUPAC name of the compound is: 063. S & 3TI’§ZL fudam 2
CONH, CONH
CHO :
J Vi CHO
A) 2-methyl-6- -3- i -
(A) 2-methyl-6-oxohex-3 er,lamlde (A) 2 ~Tfoe-6 ATFAEF -3 -FAHES
(B) 6-keto-2-methyl hexamide (B) 6—%—2—‘3’@1@
(C) 2-carbamoylhexanal (C) 2- c|-,|q|q|qqr|§e|»{-1.-|q|
(D) 2-carbamoylhex-3-enal (D) 2- -3-39
064. The IUPAC name of 064. T =1 sMEyHud. 9m 2
F F
I c s 1 ci i
Br Br
(A) 1-Bromo-2-chloro-3-fluoro-6-iodo (A) 1 -STHT -2 —FA - 3 —FA - 6 - 3TTFET
benzene EESiT]
(B) 2-Bromo-1-chloro-5-fluoro-3-iodo (B) 2-9MHI-1-FAR -5 %A -3 -3ATIS]
benzene EESiT]
(C) 4-Bromo-2-chloro-5-iodo-1-fluoro ©) 4~ -2 A - 5 - 3ATTST - | ~FeART
benzene EEEin]
(D) 2-carbamoylhex-3-enal (D) 2-FHEETAZH ~3 -3

065. Which of the following compounds | 06S5. g At o @ foom w9 A AW
contain at least one secondary alcohol? T fgd Uowhlga 27
/>/\ /OH>/CI-: %\OH oif “cu, OH

® (ii) (@ (ii)
H H
/y\o /\"/\ou 4 \0 /\"/\0H
od 'H o OH 'H o
(iii) (iv) (iii) (iv)
OH
/%\OH /X\OH /V\ />/\
OH H H “H
(vi) (v1)
(A) (0, (i), (iv), (v) (A) (1), (i), (iv), (vi)
B) (i), (i), (i) ®) (0, (i), (iii)
(©) (D), (i), (iii), (v) (©) (i), (ii), (iii), (v)
(D) @), (i), (v) (D) (i), (iii), (v)
2-BD | [17] [ PTO
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066  Transition state 2 (T.S.2) is structurally | 066 GLEHATCHS &Y 8 Hhuul 3TaET 2 (T.S.2)
most likely as: 31feeh |9 7
T.S.2 T.S.2
T.S.3 T.S.3
E E
Inter- T.S.1 Inter-
mediate2 mediate2
Intermediatel Intermediatel
reactant reactant
Product Product
(A) intermediate 1 (A) Hegadi 1 (intermediate 1)
(B) transition state 3(T.S.3) (B) HshHUT FFEAT 3 (T.S.3)
(C) intermediate 2 (C) "eIadt 2 (intermediate 2)
(D) product (D) 3G (product)
067. The decreasing order of electron affinity | ¢7. FAFI IATCHRIAT (SEeT) 1 Tl gaT
is: %0 8-
(A) F>CI>Br>1 (A) F>CI>Br>1
(B) CI>F>Br>1 (B) CI>F>Br>1
(C) I>Br>CI>F (C) 1>Br>Cl>F
(D) Br>Cl>F>1 (D) Br>Cl>F>1I
068. The isomerism exhibited by following | ¢e8. 31effaf@a fen [Co(NH,),][Cr(CN),]
. 376 6
compounds [Co(NH3)6][Cr(CN)6] and TAT [Cr(NH;)G][Cr(CN)] GRT TSR
[Cr(NH;)(][Cr(CN)] is AR -
(A) Linkage isomerism (A) s=o1 qEIEar
(B) Coordination isomerism (B) IUHEHAIS GHTEIAT
(C) Ilonization isomerization (C) 3T HHTEdT
(D) POlymGI’iSﬂtiOl’l 1somerism (D) agagﬁgh—{u-[ EEEICEGI
069. ggghirgac(zzgess) 2SO the onder o | 069+ SERAL 250, + O, (excess) - 250, %
2 2 - 3 wﬁ T 3;rﬁ:ra,)—q-|-
reaction with respect to O, is ?ﬁ% 25,2 ® (wmE ) I
(A) zero (B) one
(€) two (D) three (A) 3 (B) T
©) @ (D) =
070. Friedel — Craft reaction is not related | ¢70. W$Higd-shFe AT fF=fdafga o =
with: grafed 8l 2
(A) Sulphonation (B) Nitration (A) oI T-ehiu (B) TSR
(C) Acylation (D) Reduction (C) tfafdsor (D) 3=
cl CH, Cl CH
071. Compound C=C has the | 477  sifires \C_C/ ’ ¥ R suet 2
H CH \
2445 H C H
following prefix e
(A) E (B) Z (A) E B) Z
(C) trans (D) Anti (C) ™ (D) Tt
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072.  The molecule C;0, has a linear structure. | (72, Y C,0, 1 Gt= ek & | 39 Aftes °

This compound has

A) 4 c AU 4 ¢ ATEY
(A) 4 cand 4 © bonds (A) 4o "
(B) 3 o and 2 n bonds (B) 3 o @1 27 3164
(C) 2 o and 3 n bonds (C) 2 o AUT 3 n HATEY
(D) 3 o and 4 n bonds (D) 3 ¢ A9l 4 1 &Y

073. The s_tructure of XeF, and NH; | (73. XeF, @1 NH,4 1 GTEATE 8 SRAST:
( bent, tomahedral (8) S, Sgw
(B) linear, pyramidal (B) NN ’ & =t
(C) linear, see-saw (©) Lo e ot ( le)
(D) bent, see-saw (D) siehd Gwpeit (¥t @)

074. The number of lone pair(s) of electrons | 074. [BrF,] ,XeFs e [SbCIe} * ao_'-gﬁ'&
on the central atom in [BrF,] ,XeF, and Y] T TehTeh! ST gﬂﬁ & 9eT 2
[SbCl, |~ are, respectively. U
(A) 20and1l  (B) 1,0and0 (A) 2,091 (B) 1,040
(C) 2,1 and 1 (D) 2,1 and 0 (C) 2,1qar1 (D) 2,110

075. Which one is not the property of crystalline | 075,  shiET weh foheeetta St =1 7o 7€ 7 7
EB; 1Ssl(l)';r;))prlrlcelting point (B) diem 2 %3[:1" fore
(C) A definite and regular geometry (C) Fifera wa
(D) High intermolecular forces (D) 3= FfTEh T

076. For a non-volatile solute: 076. T AT foery o forg
(A) vapour pressure of solute is zero (A) E"ﬁq 1 FTIETsl I AT B
(B) vapour pressure of solvent is zero (B) ToIeTieh =hl aTeIQTs [ &Il 3
(C) vapour pressure of solution is more (C) Tacrm =1 amsugre faemres EXCI ]

than vapour pressure of solvent T 21feres graT 8
(D) all of the options (D) T3 T mft fereheq @&l 2

077. Micelles are: 077. O 2
(A) gel (A) Sid
(B) associated colloids (B) T HIcATSS
(C) adsorbed catalyst (C) st 33
(D) ideal solution (D) et forerm

078. Milk is an emulsion in which: 078. <Y Tsh UTIH 8 T )

(A) Milk fat is dispersed in water (A) g4 991 &1 A ﬁqﬁ?ﬁ‘q‘m Tl 3
(B) asolid is dispersed in water (B) T 3 1 I ff IRET Tl @
(C) agas is dispersed in water (C) T 19 1 A ﬁ qRETur & 2
(D) lactose is dispersed in water (D) W™ I I H IHET0 &l o
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079. If enthalpies of formation for C,Hy(g), | 079. =fe C,H,(g), CO,(g) 3R H,0(l) & fag
CO,(g) and H,O(/) at 25° C and 1 atm 25° C Th a-@q—s?ﬁ-q o W o=
pressure be 52, =394 and —286 kJ mol ! TOedt HAST: 52, —394 3 286 femedl
respectively, enthalpy of combustion of S o1 g, C,H, (g) & g hl Tt
C,H, (g) will be -

(A) +141.2kI mol™! (B) +1412 kJ mol™! (A) +141.2kImol™' (B) +1412 kJ mol™!
(C) —1412kI mol™! (D) —1412 kJ mol™! (C) —1412kImol™! (D) -1412 kJ mol™!

080. Which graph shows zero activation | 080. Tf4fsham (reaction) & fa@ =ET UTH
energy for reaction ? NGl sk Sa1 eerar g ?
a1 B ! @ 1 f B) g T \

@ 1 f ®) 1 \ !
Reaction —»> Reaction —> Reaction —> Reaction —>
ol T‘
(C)l\ (D)l\ © ¢ E\
Reaction —» Reaction —» Reaction —» Reaction —>

081. Which of the following is correct for a 081. o hife h1 sfurfshan = fo = 7 @
first order reaction ? BITE HET R 7 i
(A) typxa B) #) « % (A) tpoxa (B) fp« a
©) 4« a (D) #, o a ©) fp« a (D) tp« a

082. 8.50gm of NH; is present in 250 ml | 082. 250 ml H 8.50 TTH 37T Jufeea g |
volume. Its active mass is: 3l sk L] % -

(A) 1.0ML™"  (B) 0.5ML"! (A) 1.OML!  (B) 0.5ML"!
(C) 1.5ML! (D) 20ML! ©) 15MLl (D) 2.0 ML"!
083.  The equilibrium constants of the reaction | (g3,  ayfirferan
1
S0, (g) + 7 0,(2) = SOs(g) S0, (g) + LOz(g) — SO, (g) 3R
and 2S0,(g) + O,(g) = 250;(g)are K, 2S0,(g) + 0,(g) = 250;(g) % TE™MH
and K, respectively. The relationship T TedTeh shasT: KIQHKQ%, K, 3ﬁ'{K2
between K, and K, will be: T T g ?
(A) K,=K, (B) K;=K, (A) K, =K, (B) K=K,
©) Ki=K, (D) K=K © K=K, (D K=k
2-BD | [20] [ Contd...

A collegedunia



084. COOH COOH 084. COOH COOH
H—F—OH OH——H H—F——OH OH——H
OH——H H——O0OH OH——H H——OH
CH, CH, CH, CH,
pair is known as JH hgcdTdl 2
(A) erythro stereoisomers (A) Tl Frfem wmTeRft
(B) threo stereoisomers (B) f§4’eﬁ Ffermr et
(C) structure isomers (C) |T=AT wETer!
(D) geometrical isomers (D) semtufa wmrerft
085. Which defect in any crystal lowers its | g5 forelt fopea o e E[ﬁ‘: S T I
density? S0 HT 2
(A) F centre (B) Frenkel (A) Fohg (B) hehed
(C) Schottky (D) Interstitial (C) e (D) TR
086. The half life period of a radio active
element is 30 days, after 90 days the 086. T et wlsha e hi 3red 3“—330&;' g
following quantity will be left 90 fo1 g SEht e AT 2w T -
1 1
(A) § ®) (A g ® 7
1 1
© 5 D) ¢ © 3 @) §
2 6
087. What is the number of atoms in the unit | 087- ™ g a,il ‘aFﬁ'E[ foheeet sl Toheh HITEH H
cell of body centered cubic crystal ? Al @3“} 1w A Bl 7 7
(A) 4 (B) 2 (A) 4 (B) 2
©) 1 (D) 3 ©) 1 (D) 3
088. When Grignard reagent reacts with 088. <& fi=m =1fierdess e o 31ffshan
ketone it yields AT 3 A1 ITH BT | -
(A) 1°alcohol (B) 2° alcohol (A) 1°Teehlgd  (B) 2° Ucehligd
(C) 3°alcohol (D) Ethanol (C) 3°Tehlgd (D) WA
089. Formula of Bleaching powder is: 089. SRR UT3et # el 2
(A) CCLLCHO (B) CaOCl, (A) CCL,CHO (B) CaOCl,
(C) Ca(OH), (D) CHCl, (C) Ca(OH), (D) CHCl,4
090. "2111; gjsmetry around the central atom in 090. C1F4+ et N N
4
3 -
A) square planar
EB; sguare gyramidal (A) :‘Tﬁ : :E
(C) octahedral (B)
(D) trigonal bipyramidal (C) sFEHe
(D) B g
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091. Among the following, the equilibrium | 091. <« oW W = O | S| g gt
which is NOT affected by an increase in T8l gar 2
pressure is (A) 280;() = 250,(2) + 0x(2)
(A) 250;(g) = 250,(g) + O:(2) B) Hy(0)+ L(s) = 2HI(9)
(B) Ha(g)+ L(s) = 2HI(g) e R ’
(C) C(9)+ H,0(g) = CO(2) + Ha(g) © CE+H0() = COE+ g
(D) 3Fe(s) + 4H,0(g) = Fe,0,(s) + 4H, () (D) 3Fe(s)+ 4H,0(g) = Fe;04(s) + 4H,(g)
092. In the manufacture of ammonia by 092. TR SHRH % GRI IR < fmior &
Haber’s process N (g) + 3H,(g) = 2NH;(g) + 92.3kJ
N,(g) + 3H,(g) = 2NH,(g) + 92.3kJ =1 9 | e o1 ikt 7 7
Which of the following conditions is (A) M9 Sl
unfavourable ? (B) Q& b1 deT
(A) Increasing the temperature (C) dT9 <hT &t
(B) Increasing the pressure (D) mifEn @ fmior & @y gEe
(C) Reducing the temperature IEETSEI
(D) Removing ammonia as it is formed
' . 093. = ® & sian Rt snfirdtar Fureran
093. Wh¥c}‘1 of the followmg c‘ompou‘nds can gor ufafce (enantiomerism) 211
exhibit both geometrical isomerism and 1 eutar 2 ?
enantiomerism ? '
(A) CH,— CH= CH- CH, (A) CH; = CH= CH~— CH;
CH,CH,— (le—C —(CH—CH CH,CH,—CH—C=—CH—CH,
CH
CH 3
(©) [ © cnen—— é—CH —COOH
CH3CH2— C——=CH—COOH 3 2 —
(D) CH,— CHOH — COOH (D) CH;— CHOH - COOH
094. Which of the following reacts fastest with 094. ®TZ HCI% @1 7t & § shlar i
conc. HC1 ? Y § fulshan & 2
(A) @CHZCHZOH (A) @*CHZCHZOH
(C) (CH;);COH (C) (CH4);COH
(D) CH, = CH-CH,OH (D) CH, =CH-CH,0H
095. A polymer which is commonly used as a 095. SR ST | et 6T afeRT 5 hm
packaging material is AT 2
(A) Polythene (B) Polypropylene (A) irefifert (B) USEIEISIE
(C) PVC (D) Bakelite. (C) PVC (D) SeheTTse
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096. Which pair does not represent the cyclic | g9¢. epi=ET I C,H 3 g a1 TshIg A
compound of the molecular formula C,H, 1yl :lggr
T B
(B) (B) g %
© | ©)
o] /\ ©f ] /\
CN CN
H;O' H,0
097. +CHMgBr ——» P 097. +CHMgBr — > P
OCH, OCH,
Product P in the above reaction is: IqUh 3Afufshan § 3UE P 2
_CH— O=C—CH, OH—CH — CH, O=C—CH;
@ AT @ (A) (B)
OCH OCH,
CHO COOH CHO COOH
©) @ D) @ ©) D)
OCH OCH.
098. The structure of carboxylate ion is best | (098. <hIaI{FEIC Wﬁwaﬁfq—qﬁ DT
represented as: B fregn -
CNIA B _/° @A) p ®B) /°
—C \ - -
s 0 C\G \0
o f D / y o
© _/ D) / © o 10)
v s ~ —
o o)
099. Which one of the following is not a unit 099, Tt & @ HE STt bl gohrs AR R 7
8:;3 Ille\lrl%ly ’ B) ke. ms (A) Nm (B) kg.ms 22
(C) lit-atm (D) kg m2s2 () lit-atm (D) kgm?s
100. When a liquid that is immiscible with | 100. Teh ga Sl STl | ATHAOMT & T 1T ST
water was steam distilled at 95.2?C' at a 95.2°C YT dUT 3 99.652KPa W
total pressure of 99.652KPa. The distillate fepam ) T I ST & Yk UTH
contained 127gm of the 11qu1d per gram Es 1) aa %+ 1. 27gm qu'fg\gm' %' qﬁ ST <kl
of water. What will be the molar mass of I 95.2°C T 85.140KPa B, 29 W
the liquid if the vapour pressure of water TIeR ZeTM 1 B 7
is 85.140KPa at 95. 2°C ? (A) 134.1 gm mol!
(#) 134.1 gm mol | (B) 105.74 gm mol!
(B) 105.74 gm mol : -
(C) 99.65 gm mol (C) 99.65gm mgl
(D) 18 gm mol™! (D) 18 gm mol™
2-BD | [23] [ PTO

¥ collegedunia



BIOLOGY / Sfafasm

101. Trypanosoma is 101. @ﬁwﬁzﬂm H
(A) Non-pathogenic (A) STATSHS
(B) Monogenetic (B) ThdIE
(C) Digenetic (C) fgurdr
(D) Facultative (D) ferepedt
102. Which is the correct sequence of the | 102. Fﬂfﬁ@ﬁﬁm T 9 90 % 9
path of water current flowing through g ATHY B
leucosolenia
(A) Spongocoel—osculum—ostium (A) W—)m*m
(B) Ostium—sspongocoel—Osculum (B) ATTEIH—TIIe e — 3HTeperd
(C) Osculum—sspongocoel—ostium (C) HATEpTH T — HATECTH
(D) Osculum—ostium—spongocoel (D) @Weﬁ'@'ﬂﬂe@ﬁﬁmﬂ
103. Which if the following animal causes | 103. = # & @M&r Sfa #g= #
filariasis disease in man? FIEINTEE  (FrEfEn) T Ioa=
(A) Truchiuris trichiris HT B
(B) Enterobius vermicularis (A) W gsfRf
(C) Dracunculus mediensis (B) TR a‘:ﬁ—?'ﬁf{g
(D) Wucheria bancrofti © 3 .ﬁ‘sﬁqﬁa
(D) e skl
104. Which of the following is a correct | 104. 9 # ¥ =@ e ¥& 2
?301;?1 Pelecypod (A) T -
ila — Pelecypoda
(B) Spider — Ar:fhnida ®) T - @ﬁq@é .
(C) Cockroach — Crustacea (© ﬁ?l?@'[ )
(D) S - difetehler
(D) Leech — Polychaeta
105. One of the following is not correctly | 105. = # ¥ w® ‘{{ﬁ%ﬁ T R
matched —
(A) Glochidium — Mollusca (A) wfafem - e
(B) Planula — Coelenterata (B) W - Hiede
(C) Trochophore — Anelida ©) a@qﬁ'{— eI
(D) Tornaria — Echinodermata (D) THANAT-  SehrSAISHel
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106. Periplaneta americana differs from Blatta | 106. wsier AfEfa O Uiceqe @fEET
orientalis in having: g @@u % HRU = BT @
(A) No wings (A) TE@ H U F HRO
(B) Developed wings (B) Taepfigd g
(C) Only first pair of wings ©) Fae TRl W ¥ @
(D) Only second pair of wings D) 3 E@'ﬁ o
107. Harmful insect for the leaves and stem | 107. 7= & gfqai wd a4 & fow gfiens
of sugarcane is - e g 2
(A) Pyrilla (B) Agrotis INRECL (B) e
(C) Leptocorisa (D) Idiocercus ©) A (D) TlaTiThy
108. If a live earthworm is pricked with a | 108. Zlﬁ fopelt Sifera ciogq o 39 AR
needle on its outer surface without A o fomm afa Hétllq FUiEds W
damaging its gut, the fluid that comes lﬁ ﬁﬁﬂé S A Uh WA arel e
out is :- 98 BT B
(A) Excretory fluid (A) 3cEsii atd
(B) Mucous (B) ssAT
(C) Haemolymph (C) EHife®
(D) Coelomic fluid (D) Tt (7fea) @@
109.  Similarity between housefly and mosquito | 1¢09. gﬁ\a\w qAT Ho 1 GHH G0 B
is that both have (A) a I Tﬁ i Ug
(A) Two pairs of fully developed wings (B) F T 7@ i
(B) Sponging Mouthparts q opef
(C) Long Antennae ©
(D) Larval forms (D) i A ( ) ol
110.  Which all of the following are vector | 110. = T & i @t T a@H (vector)
hosts? RIEE
(A) Sand fly, Tse tse fly, House fly, Culex (A) He woell, @ | Hoell, wie] e,
(B) Tse tse fly, Trypansoma, Sand fly, E ’ .
Leishmania (®) # 1 S ’
TSI
(C) House fly, Plasmodium, Monocystis, ©) mm s, et
Culex W ’ ’ ’
(D) Bed bug, Silver fish, Ratflea, (D) @eHd, fHear qﬂ;ﬁ, W,
Entamoeba T STHET
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111. The drug used in Ascariasis is 111. UehiEnfaE U 0 fea fwfy &1 3wm
(A) Shesham oil g @
(B) Oil of Chenopodium (A) ¥R 51 e
(B) sHMifg@™ (Chenopodium) 1 dat
(C) Chloroquinone (C) TR
(D) Tarcamphor (D) AR *HFH
112.  Tonoplast is : 112. ?ﬁ:ﬁlﬂ'l%_{:
(A) A feature of all cells. (A) Tfi SIfSpIeT &1 TH @@ |
(B) Found in prokaryotic cells only. (B) hael Thiiieeh hifsmehiel o Bl &l
(C) Found in plant cells only. (C) et UTed ShifehieT H IR S &
(D) Found in animal cells only. (D) Fad S| ISR | R S gl
113. The cell wall of both bacteria and | 113. d&if@n R wEAdwfE aAi 6
cyanobacteria contains: Hifserr fufq o g 7 -
(A) Lipid (B) Pectin A) fafue (B) ufgeq
(C) Protein (D) Muramic acid (C) WA (D) qm‘ﬁqm 3IFA
114. The stage of meiosis in which pairing | 114. ;ggj—\c@ﬁw ) T I foEd
of homologous chromosomes starts, is ST W H I TE a2
called: (A) TRREE (B) A
(A) Leptotene (B) Zygotene (©) TR} (D) S EarAC]
(C) Diplotene (D) Pachytene
115. A duplicated chromosome has how 115. ;T ! UL A T a
many chromatids ? ‘
(A) One (B) Two (A) T B)
(C) Three (D) Four (ORI (D) =
116. The Ecological pyramid that is always 6. witferfes frfae S FEw Feaiw
upright: (#frem) @ @
(A) Pyramid of Energy (A) it & fowfire
(B) Pyramid of Biomass (B) wrEmE % frfe
(C) Pyramid of Number (C) wem % fuufe
(D) None of the options (D) g:rﬁ T Eﬁ—&; fomeq &l
117. The main components of photochemical | 117. YT THRH ‘g"ﬁ & qed Uish 2
smog are: (A) S ot
(A) Water Vapour .
(B) Sulphur Dioxide (B) He®l SreflTEe
(C) Oxides of Nitrogen (C) TESH o JlaTEed
(D) All options are correct (D) aft foshew wdt 2
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118. Which of the following chromosomes | 118. fa=fafga & 4 =19 = TR S IDEAR
are responsible for most of the sex- fo-dgem @O % foru SoeErt 27
linked traits?

(A) 13 B) Y (A) 13 B) Y
(C) 15 (D) X ©) 15 (D) X

119. The taxonomic unit ‘Phylum’ in the | 119. a@aﬁ % qiffetor H ERicicaw|
classification of animals is equivalent to THEE GY Ued % aife H fRg
which hierarchical level in classification Sufleg R % G B
of plants:

(A) Class (B) Order (a) =t (B)
(C) Division (D) Family (C) u¥m (D) P

120. The anthesis is a phenomenon, which | 120. Y% W sk 8, S TG B -
refers to: (A) WY % fo@ @
(A) Development of anthers ®) O A
(B) Stigma receptors
(C) Opening of flower bud © 3= : % foe @
(D) Reproduction in plants (D) gl # T @

121. The fruit of coconut is: 121. & &1 BdA 2:

(A) Berry (B) Drupe (A) a4 (B) EX
(C) Nut (D) Pome ) T (D) -

122.  Which tissue gives rise to secondary | 122, <&l Hdsh fodiaeh §fﬁ3 T ol 27
growth? (A) 9 foreseiaes
(A) Apical meristem (B) TNt 7S
(B) Adventitious root '

. (C) herEy il
(C) Axillary bud )
(D) Vascular cambium (D) UL

123. Azotobacter and Beijerinckia are the | 123. LSIEECIC I ES I CRII I
examples of: & 5
(A) Symbiotic nitrogen-fixing bacteria (A) W& = 3
(B) Asymbiotic nitrogen-fixing bacteria (B) SToEsiell Arggiort feerfiehr Sf i ®
(C) Photosynthetic bacteria (C) TehI-Hodel Sffemy] %

(D) Disease causing bacteria (D) W HH dH I &
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124. Blue-green alga that causes red water- | 124. -8 JaTdd S ATA STA-TATIT hT
blooms is: 0T %:
(A) Anabaena (A) UATISAT
(B) Gloeocapsa (B) TATSSThTHT
(C) Trichodesmium (C) TSehlsieimm
(D) Nostoc (D) e
125. Edible fungus is: 125. W™ Hd% @
(A) Penicillium (B) Agaricus (A) Ufafemm (B) wifewa
(C) Aspergillus (D) Pythium (C) wafe®m (D) Uigler™
126. Vegetative reproduction in Marchantia | 126. wERET o ¥ S99 = & Tream
occurs through following: g gl @
(A) Apospory  (B) Gemma Cup (A) UIETRY (B) THT Y
(C) Budding (D) Hormogonia (C) HpeH (D) BT
127.  Gametophyte of Pteridophyte is called: | 127 w1 W FEdATl &
(A) Prothallus (B) Protocorm (A) NITH (B) e
(C) Thallus (D) Gametangia (C) Serg (D) W‘Wﬁ
128.  Largest sperms in the plant world are | 54 ey S § Tl W99 ] 1T I
fzundB in: - (A) STE (B) WY
(A) an?lan (B) ?/cas (C) g (D) T
(C) Thuja (D) Pinus
129. In a cymose type of inflorescence, the | 129. BRI EI D W q o a8
growth of the main axis terminates in a: Eal Eﬁ;{ w it & ]
(A) Branch (B) Leaf (A) =men ﬁ. (B) it ﬁ
(C) Bract (D) Flower (C) Wwews & (D) g9 H
130. Which can function as carrier in active | 130. @RI 3fREM @RIV H S aTEH
ion absorption? ®Y U & H Hhd 87
(A) Ferredoxin (B) Plastoquinone (A) BiEifdgT  (B) wameifaeria
(C) Cytochrome (D) Lecithin (OREIEAEL (D) wifafem
131. Insectivorous plants grow in: 131. Hevsl Uy 9T Id 7 -
(A) Nitrogen rich soil (A) TEISH RERE
(B) Nitrogen deficient soil (B) HTgeISH ~gd Il
(C) Potassium deficient soil (C) urRfFEm = qaT
(D) Carbohydrate rich soil (D) HIETEESE I ol
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132.  The first CO, acceptor in C4 plants is: | 132. C4 ueal H Hed ugel CO, Uigh i
(A) PGA (B) PEP (A) PGA (B) PEP
(C) RuBP (D) OAA (C) RuBP (D) OAA
133. Reaction centre of Photo system-I in | 133. BNd 9rgdi ® duieh dw=1-1 T ITHTsRAT
green plants is: %g =
(A) P680 (B) P690 (A) P680 (B) P690
(C) P700 (D) P780 (C) P700 (D) P780
134. The conversion of Pyruvate into Acetyl | 134. UgEde & THIRA Co-A H ®UGHU
Co-A is called: I HE W@ R
(A) Glycolysis (A) TATSHIATIHE
(B) Fermentation (B) fepvam
(C) Oxidative decarboxylation (C) Aadisiea repEifaaay
(D) PB-Oxidation (D) B-3TTereTehtur
135. Process of water exudation through | 135. SeRY & T g Uit e i ufshan
hydathodes is known as: FHEAT B
(A) Guttation  (B) Transpiration (A) |§|v-§l~_>ll5| (B) ATSTCES
(C) Evaporation (D) Bleeding (C) afiem (D) THEE
136. In hyponasty, the bud will remain 136. 31@7{@3‘57? o, el T
(A) Open (B) Close (A) Get (B) ©=g
(C) Semi-Open (D) Wilt (C) 3Tg et (D) F&IE
137. Miller synthesized amino acids from 137. faor 3 o ol @1 Geowul feRa
(A) CH, , NH; ,H,O, H, (A) CH, , NH; ,H,0, H, g
(B) N,0,CH,,H,,0, (B) N,0,CH,,H,,0, ¥
(D) CHy,0,,NH;y, H)0 (D) CH,,0,,NH;,H,0 ¥
138. Darwin’s theory does not include 138. eifdd & fugral o afmfaa & 2
(A) Survival of fittest (A) Qﬁj’qﬁq sl Iafadr
(B) Struggle for existence (B) aferea & forw g
(C) Natural selection (©) W [
(D) Evolution through inheritance (D) ST GER I e
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139. The unit of evolution is 139. fawm@ (evolution) HE B
(A) Population (A) e (Shagen)
(B) Species (B) S
(C) Social groups (C) IMISe T
(D) Individual (D) =k (Sfa)
140. Which of the following forms a | 140. i & ¥ S\9ar snoider qor wiferer
connecting link between Annelida and ¥ f9 6 w2
Arth0p0f1a‘? &) e B -
(A) Peripatus (B) Chetopterus h
(C) Limulus (D) Boneli (© %W (D) aet
141. Match the two lists 141. ﬂﬁ%ﬁ ST
List I List II WY 1 @Y I
(a) African Ape man (1) Sinanthropus (a) 3ThTeh T (1)ﬁ=|:|=rgfrq1:r
(b) Java Ape man (2) Pithecanthropus ()
(c) Pecking man  (3) Homo (b) G”a” TR 2 [EREEERE
(d) Neandarthal (4) Australopithecus () &%rr kil (3)_6ﬁtﬁ
(A) a1, b3, cd, d—2 (d) FreTsda (4) ST
(B) a4, b3, cl, ds2 (A) a—=1, b—>3, c—4, d=2
(€) asl, b2, csd, ds3 (B) a—4, b—=3, c—1, d=2
(D) asd, b2, col, do3 (C) a—1, b—2, c—4, d—=3
(D) a—4, b—>2, c—1, d—=3
142. Which blood Group is universal donor | 142. &1 &F I gdardar 2
(A) O (B) O (A) O (B) O~
(C) AB* (D) AB™ (C) AB* (D) AB™
143.  Palmau (Betla) National Park is situated | 143. gogres (a'dFlT) i e +af foorg
o (A) @ (B) W T
(A) Orissa (B) West Bengal
(C) Jharkhand (D) Bihar (©) grEve (D) forn
144. Hemichordates have close affinities with | 144. @HihrSar (314 TRl ) h Fepe aigen
which of the following phylum: fr & @ fom ww @ %
(A) Annelida (A) TAfAST
(B) Arthopoda (B) 3TTeTqieT
(C) Echinodermata ©) ECOECIEt
(D) Mollusca (D) TTeTEhT
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145. Dicondylic skull is the characteristic | 145. %aﬁ@s%m e 9 0 9 w9 @
feature of ST T AW 77
(A) Amphibia and Mammalia (A) Tfthsfin (St Toret=r) wd aafern
(B) Aves and Mammalia (B) TS QEI mfern s
(C) Amphibia and Reptilia (C) Ufpean wa ifeeferan (@fd) =
(D) Reptilia and Aves (D) feefern w wdw (weft) =

146. Echolocation is exhibited by 146. IR (uﬁwﬁf@aﬁr) Tefild d @
(A) Man (B) Bats (A) "9 (B) =HTGS
(C) Cats (D) Owl (C) fugt (D) 3§

147. If in a child secretion from the anterior | 147. 3T Ik % KR\ ufy &% el |
lobe of pituitary gland is more than RS DL (L I IS 2
normal, the child will be suffering from RE gﬁm
(A) Night Blindness (A) i Fr
(B) Maturing late (B) Wit H <f
(C) Gigantic due to speedy growth (€) e ot & ﬂﬁfi 5 o

InCaRGICH]
(D) Dull mentally and weak (D) - m e

148. Blood is supplied to the walls of | {4¢ el 6 dant B w Téﬁ'l?l'[ ST B
vessels by
(A) Choroid plexus (A) FTES THE (THF TH) G
(B) Pons varoli (B) ¥H A gT
(C) Crura cerebri (C) &0 Hft g
(D) Vasa vasorum (D) = RRLCI-

149. On the basis of development odontoid | 149. ™ & MUX W THAT hl AN
process of axis of mammals is: H AeHdise YHH B
(A) Ribs of axis vertebrae (A) 378 HIH! hl THA!

(B) Centrum of atlas (B) ©H UZAH hITeh oh
(C) Neural spine of atlas (C) <A T8 TWAH  <hl
(D) Centrum of axis (D) U 3187 HI®HI H

150. Gametocytes of malarial parasites are | 150, HE UYGHEl & AHEERES (T
formed in %) hEl a9d B
(A) Stomach of female Anopheles (A) TG UATh{AS o ITHRE T
(B) Stomach of male anopheles (B) T AT o AMRE |
(C) Blood of man (C) e & TF H
(D) Salivary glands of anopheles (D) TSl s @R UfoRm o
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